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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Differentiate between ‘The Accrual Concept’ and ‘The 

Arising Concept’. Enumerate the Income demand to 

accrue or arise in India.  

^vk; dh vftZr gksus dh vo/kkj.kk* rFkk ^vk; ds mn; gksus 

dh vo/kkj.kk* esa D;k vUrj gS \ Hkkjr esa vftZr vFkok 

mfnr ekuh x;h vk;ksa dks crkb,A 

2. What are perquisites ? Explain taxable and tax-free  

perquisites using examples. 

vuqykHk D;k gksrs gSa \ dj;ksX; ,oa djeqDr vuqykHkksa dks 

mnkgj.kksa ds iz;ksx ds }kjk le>kb,A 

3. Define ‘Capital Gains’ and differentiate between short- 

term capital gains and long-term capital gains. Also 

explain the rules regarding exemption of capital gains. 

^iw¡th ykHkksa* dks ifjHkkf”kr dhft, rFkk vYidkyhu iw¡th 

ykHkksa ,oa nh?kZdkyhu iw¡th ykHkksa esa vUrj Li”V dhft,A iw¡th 

ykHkksa dh djeqfDr ds lEcU/k esa fu;eksa dks Hkh le>kb,A 

4. From the following detail in respect of Mr. X, calculate 

total income chargeable to tax for the assessment year 

2017-18 : 

 ` 

Basic Salary 5,00,000 
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Dearness Allowance 10,00,000 

House Rent Allowance 60,000 

Interest on Fixed Deposit 1,50,000 

Dividend from an Indian Company 10,000 

Remuneration received 1,25,000 

Mr. X contributes 10% of his salary and dearness 

allowance towards contributory recognised provident 

fund to which his employer contributes the same 

amount. He has paid a sum of ` 75,000 as annual 

premium for his SBI Life policy during the year. 

Jh ,Dl ds lEcU/k esa fuEukafdr fooj.k ls dj&fu/kkZj.k o”kZ 

2017&18 ds fy, dqy dj;ksX; vk; dh x.kuk dhft, % 

 ` 

ewy osru 5,00,000 

eg¡xkbZ HkŸkk 10,00,000 

edku fdjk;k HkŸkk 60,000 

LFkk;h tek ij C;kt 1,50,000 

Hkkjrh; dEiuh ls ykHkka’k 10,000 

ikfjJfed izkIr 1,25,000 

Jh ,Dl va’knk;h ekU;rk izkIr izkWfoMsUV Q.M esa vius osru 

,oa eg¡xkbZ HkŸks dk 10% ;ksxnku djrs gSa ftlesa muds 

fu;ksDrk }kjk Hkh leku /kujkf’k dk ;ksxnku fd;k tkrk gSA 

mUgkasus viuh ,l- ch- vkbZ- ykbQ ikWfylh esa o”kZ ds vUrxZr  

` 75]000 dk okf”kZd izhfe;e Hkqxrku fd;kA   
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Differentiate between ‘Tax Evasion’ and ‘Tax 

Planning’. 

^dj oapuk* ,oa ^dj fu;kstu* esa vUrj Li”V dhft,A 

2. What are the characteristics of ‘Tax havens’ ? 

^dj vkdk’k* dh fo’ks”krk,¡ D;k gSa \ 

3. Explain Previous year, Assessment year and Income. 

xr&o”kZ] dj&fu/kkZj.k o”kZ rFkk vk; dks le>kb,A 

4. What are the tax benefits available to newly 

established units in FTZ, SEZ and EHTP ? 

,Q- Vh- tsM-] ,l- bZ- tsM- ,oa bZ- ,p- Vh- ih- esa LFkkfir 

uohu bdkb;ksa dks miyC/k dj&ykHk D;k gSa \ 

5. How is annual value of House property determined ? 

edku&lEifŸk dk okf”kZd ewY; dSls fu/kkZfjr fd;k tkrk  

gS \ 

6. What are the income chargeable to Income Tax under 

the head ‘Profits and gains of business and profession ?  
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^O;olk; ,oa is’ks ds ykHk ,oa vk;* ‘kh”kZd ds vUrxZr 

dj;ksX; vk;sa dkSu&lh gSa \ 

7. Give five donations which are eligible for 100% 

deduction under Section 80 G of ITA, 1961. 

vkbZ- Vh- ,-] 1961 dh /kkjk 80 th- ds vUrxZr mu ik¡p nku 

dh enksa dks crkb, tks 100% dVkSrh gsrq vuqeU; gSaA 

8. Give distinction between ‘Capital expenditure’ and 

‘Revenue expenditure’. 

^iw¡thxr O;;* ,oa ^vk;xr O;;* esa vUrj dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Tax avoidance is a deliberate failure to pay taxes.  

     (True/False) 

^dj ls cpko* dj Hkqxrku esa tku&cw>dj vlQy jguk gSA  

    ¼lR;@vlR;½ 
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2. The incidence of Income Tax on an assessee depends 

on his residential status. (True/False) 

,d djnkrk ij vk;dj dk izHkko mldh fuokl fLFkfr ij 

fuHkZj djrk gSA   ¼lR;@vlR;½ 

3. Income by way of dividends from a domestic company 

is exempt from tax. (True/False) 

,d ?kjsyw dEiuh ls ykHkka’k ds :i esa vk;dj ls eqDr gSA  

    ¼lR;@vlR;½ 

4. As per Section 17 of ITA salary does not include 

‘Advance Salary’. (True/False) 

vk;dj vf/kfu;e ¼vkbZ- Vh- ,-½ dh /kkjk 17 ds vuqlkj 

^vfxze osru* osru ls vk; esa lfEefyr ugha fd;k tkrk gSA  

    ¼lR;@vlR;½ 

5. ‘Family Pensions’ are taxable under the head income 

from salary.  (True/False) 

^ikfjokfjd isa’ku* osru ls vk; ‘kh”kZd ds vUrxZr dj;ksX; 

gS \    ¼lR;@vlR;½ 

6. Under Section 80 CCC contribution made by an 

individual assessee to pension fund is deductible.  

     (True/False) 

/kkjk 80 CCC ds vUrxZr O;fDrxr djnkrk ds }kjk isa’ku 

dks”k esa ;ksxnku dVkSrh ;ksX; gSA  ¼lR;@vlR;½ 

7. The due date for filing ITR for a company  is 31st 

October of the assessment year. (True/False) 
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,d dEiuh ds fy, vk;dj fooj.kh; Qkby djus dh vafre 

frfFk dj&fu/kkZj.k o”kZ esa 31 vDVwcj gksrh gSA ¼lR;@vlR;½ 

8. Any omission or any wrong statement in the return of 

income can be revised at any time. (True/False) 

vk;dj fooj.kh esa fdlh xyr rF; vFkok Hkwy dks fdlh Hkh 

le; esa la’kksf/kr fd;k tk ldrk gSA  ¼lR;@vlR;½ 

9. Depreciation is a non-cash expense. (True/False) 

kl ,d xSjudn O;; gSA   ¼lR;@vlR;½ 

10. Recovery of Bad Debts which was allowed earlier as 

deduction shall be deemed to be profits and gains of 

business and chargeable to tax. (True/False) 

iwoZ esa dVkSrh dh x;h Mwcr _.k dh olwyh O;olk; dk 

YkkHk ,oa vk; ekuh tk,xh rFkk dj;ksX; gksxhA  

    ¼lR;@vlR;½ 
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